
AS-4334 Peerless Tablet Clamp  
and AS-4274 USB Secure 

Installation Instructions 
 

3731 Northridge Dr. NW Unit 1 | Walker, MI 49544 | 616-233-9530 | www.altus-inc.com 
 

Tools Required: 
Phillips Head Screwdriver 

 Parts Included:  
1x AS-4334 with Hardware 

1x AS-4274 Ram – Side Clamp (Accessory) 
1x AS-4295 USB Secure Storage (Accessory) 

 1. Before beginning, locate the hardware pack 
labeled 021-8015, shown in Figure 1.  

 
2. Next, locate the bottom clamp, the top clamp, 

and the main plate as shown in Figure 2.  

 
3. Slide the top clamp and bottom clamp into the 

main plate and over the pins (facing 
downwards) as shown in Figure 3. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
Figure 1. Hardware Pack 

 

Figure 2. Top Clamp, Bottom Clamp, and Main Plate 
 

 

http://www.altus-inc.com/


AS-4334 Peerless Tablet Clamp  
and AS-4274 USB Secure 

Installation Instructions 
 

3731 Northridge Dr. NW Unit 1 | Walker, MI 49544 | 616-233-9530 | www.altus-inc.com 
 

 
 

 
4. Next, locate three ¼” plastic spacers (shown in 

Figure 4) and three M5 washers (shown in 
Figure 5). 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Figure 3. Top/Bottom Clamp Fit on Main Plate 
 

 
Figure 4. ¼” Plastic Spacers 

 

 
Figure 5. M5 Washers 

 

http://www.altus-inc.com/


AS-4334 Peerless Tablet Clamp  
and AS-4274 USB Secure 

Installation Instructions 
 

3731 Northridge Dr. NW Unit 1 | Walker, MI 49544 | 616-233-9530 | www.altus-inc.com 
 

 
 
 
 
5. Place the three ¼” plastic spacers on top of the 

three pins that the top and bottom plate slid into 
(in step 3 and shown in Figure 3.) as shown in 
Figure 6 for reference. The three M5 washers 
will be placed on top of the three spacers. 

 
6. Next, locate three smaller M5 x 8 mm screws 

(shown in Figure 7), and fasten them to the 
pins of the main plate (shown in Figure 8). 
NOTE: Do not completely tighten these 
screws. These screws will be tightened 
once your tablet is fastened in place inside 
of the tablet clamp. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Figure 6. Attached ¼” spacers to pins. 

 

 
Figure 7. M5 x 8 mm screws 

 

 

http://www.altus-inc.com/


AS-4334 Peerless Tablet Clamp  
and AS-4274 USB Secure 

Installation Instructions 
 

3731 Northridge Dr. NW Unit 1 | Walker, MI 49544 | 616-233-9530 | www.altus-inc.com 
 

 
 
 
 

 
7. Obtain the two side clamps and secure them to 

the back of the main plate (Shown in Figure 9.) 
 

8. Using the same M5 washers (shown in Figure 
5.) and the same M5 x 8 mm screws (shown in 
Figure 7), secure the side plates to the main 
plate, shown in Figure 10. NOTE: Do not 
completely tighten these screws. These 
screws will be tightened once your tablet is 
fastened in place inside of the tablet clamp. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Figure 8. M5 x 8 mm screws fastened 
 

 
Figure 9. Side Clamps on Main Plate 

 

 
Figure 10. Side Clamps secured to Main Plate 

 

http://www.altus-inc.com/


AS-4334 Peerless Tablet Clamp  
and AS-4274 USB Secure 

Installation Instructions 
 

3731 Northridge Dr. NW Unit 1 | Walker, MI 49544 | 616-233-9530 | www.altus-inc.com 
 

 
 
 
 
 

 
9. Obtain the four adhesive rectangle padding 

(Shown in Figure 11). 
 

10. Next, turn the tablet clamp over 180 degrees in 
order to place the four adhesive rectangle 
padding where your tablet will be placed. Use 
Figure 12 for reference. 

 
11. Place your tablet inside of the clamp, securing 

the top, bottom, and side clamps to the edge of 
the tablet as you see fit. Once the clamps are 
placed in your appropriate setting, tighten the 
seven M5 x 8 mm screws on the back of the 
clamp.  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Figure 11. Adhesive Rectangle Padding 

 

 
Figure 12. Adhesive Rectangle Padding Placement 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

http://www.altus-inc.com/


AS-4334 Peerless Tablet Clamp  
and AS-4274 USB Secure 

Installation Instructions 
 

3731 Northridge Dr. NW Unit 1 | Walker, MI 49544 | 616-233-9530 | www.altus-inc.com 
 

 
 
 
 
 
 

 
12. Obtain the 4x ½” spacer (Figure 13) and the 4x 

M5 x 20mm screws (Figure 14). 
 

13. On the back of the tablet clamp, place the 
remaining two plastic covers over the two pins 
with the aforementioned ½” spacers, as shown 
in Figure 15. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 
Figure 13. ½” Spacers 

 

 
Figure 14. M5 x 20mm Screws 

 

 
Figure 15. Plastic Covers attached to Clamp 

 

http://www.altus-inc.com/


AS-4334 Peerless Tablet Clamp  
and AS-4274 USB Secure 

Installation Instructions 
 

3731 Northridge Dr. NW Unit 1 | Walker, MI 49544 | 616-233-9530 | www.altus-inc.com 
 

 
 
 
 
 
 
 

 
14. Next, beginning by screwing in the top M5 x 

20mm screw with, place the tablet clamp onto 
the vesa mount of the FSC-10 you have 
received. An example of this can be seen in 
Figure 16. 
 

15. Once the top screws have been screwed in and 
the tablet is secure, screw in the remaining two 
bottom screws with the M5 x 20 mm screws 
(Figure 17). 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Figure 16. Top Vesa Mount Screws 

 

 
Figure 17. Bottom Vesa Mount Screws 

 

http://www.altus-inc.com/


AS-4334 Peerless Tablet Clamp  
and AS-4274 USB Secure 

Installation Instructions 
 

3731 Northridge Dr. NW Unit 1 | Walker, MI 49544 | 616-233-9530 | www.altus-inc.com 
 

 
 
 
 
 
 
 
 

 
16. An example of the fully assembled clamp 

(without a tablet) can be found in Figure 18. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Figure 18. Fully Assembled AS-4334 on FSC-10 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

http://www.altus-inc.com/


AS-4334 Peerless Tablet Clamp  
and AS-4274 USB Secure 

Installation Instructions 
 

3731 Northridge Dr. NW Unit 1 | Walker, MI 49544 | 616-233-9530 | www.altus-inc.com 
 

 
 
 
 
 
 
 
 
 
 
AS-4295 USB Lock Assembly 
 
1. If installing a USB Secure Storage, an 

additional AS-4295 Storage bracket and 
custom AS-4274 side clamp should have been 
sent with the AS-4334 Tablet Clamp. An 
example of these two pieces can be found in 
Figure 19. 
 

2. These will be fastened together using two 8-32 
x 1/4 screws. An example of the put together 
USB bracket can be seen in Figure 20. 

 
3. Once you have assembled the bracket, this will 

be used in place of a side bracket of your 
choosing, shown in Steps 7 and 8 as well as in 
Figures 9 and 10. 

 

 
 

 
Figure 19. AS-4295 USB Lock Brackets 

 

 
Figure 20. Assembled AS-4295 and AS-4274 USB Secure 

If you have any questions, contact Altus at service@altus-inc.com or (616) 233-9530. If immediate assistance is 
needed, please call as soon as possible so we may help. 

 

http://www.altus-inc.com/
mailto:service@altus-inc.com

